

10/07/2022

Vendor Ranking Page 1 of 1

 Letting:
 04221007
 October 07, 2022 10:30 AM
 Call Order: 004
 Contract:
 E4W17-R0

 District:
 District 4
 Counties:
 BROWARD
 Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 42807357201 (\*)

Contract Desc: BROWARD COUNTY PRESSURE CLEANING AND COATING

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$28,792.15	100.00%
2	P&P CONTRACTING, INC.	Responsive	Non-Winning Bid	\$29,654.00	102.99%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$32,162.84	111.71%
4	T.T.C. ENVIRONMENTAL, INC.	Responsive	Non-Winning Bid	\$62,483.00	217.01%
5	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$76,353.70	265.19%
6	RAZORBACK, LLC	Responsive	Non-Winning Bid	\$86,330.00	299.84%
7	TAR-MAR GROUP, CORP	Responsive	Non-Winning Bid	\$87,827.50	305.04%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 11/01/22 BEGIN TIME: 10:30 AM END DATE: 11/04/22 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$100,000.00 and not the contractors bid total.



10/07/2022

**Tabulation of Bids** Page 1 of 5

**Letting:** 04221007 October 07, 2022 **Call Order:** 004 **Contract:** E4W17-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 42807357201 (\*)

Contract Descr: BROWARD COUNTY PRESSURE CLEANING AND COATING

The work under this Contract consists of graffiti removal pressure cleaning and/or pressure cleaning and coating concrete surfaces such as: concrete barrier walls, sound walls, reinforced/retained earth wall faces and bridge components.

MAXIMUM LIMITING CONTRACT: The award amount and the contract performance bond shall be based on the maximum limited budgeted amount of \$100,000.00 and not the Contractors bid total.

 BUSINESS DEVELOPMENT INITIATIVE (BDI) CONTRACT: Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.
 For more information about bidding on BDI projects, please see the training guide located at http://www.cmdp-bgp.com/bdi-projects.html

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: SmallBusiness@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department.

The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work,

- PROPOSAL BID GUARANTEE: On proposals over \$150,000 a Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, made payable to the Florida Department of Transportation, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).
- PERFORMANCE BOND: A Contract / Performance bond is required for this project.
- WORKERS COMPENSATION INSURANCE

Line No / Item ID Alternate Item Description	Quantity Units	(1) T & M LA SERVIO		(2) P&P CONTR	RACTING, INC.	CONSULTIN	ANAGEMENT & G OF FLORIDA
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION: 0001	(GRAFFITI RE	MOVAL (SF					
0005 0400143  CLEANING & COATING CONCRETE SURFACE, CLASS 5	29,200.000 SF	0.50000	14,600.00	0.8000	23,360.00	0.44000	12,848.00



10/07/2022

Tabulation of Bids	Page 2 of 5

Letting:	04221007	October 07, 20	22 <b>C</b> al	II Order: 004		Contract:	E4W17-R0	
Line No / Item ID Alternate Quantity Item Description Units		(1) T & M LAWN-FENCE SERVICE INC		(2) P&P CONTRACTING, INC.		(3) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		
-	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION	ON: 0001	(GRAFFITI RE	MOVAL (SF					
0010 0400145 CLEANING CONG	CRETE SURFACE	28,000.000 SF	0.50000	14,000.00	0.12000	3,360.00	0.4800	13,440.00
0015 0561 2 COATING EXIST STEEL	NG STRUCTURAL	233.000 SF	0.05000	11.65	3.00000	699.00	1.4800	344.84
0020 0563 3 ANTI-GRAFFITI (	OATING, SACRIFI	1,450.000 CIAL SF	0.05000	72.50	0.30000	435.00	1.4800	2,146.00
0025 E563 99 GRAFFITI REMO	/AL	3,600.000 SF	0.03000	108.00	0.50000	1,800.00	0.9400	3,384.00
0001 GRAFFITI	REMOVAL (SF) S	ection Totals:		\$28,792 <b>.</b> 15		\$29,654 <b>.</b> 00		\$32,162.84
	Contract G	rand Totals:		\$28,792.15		\$29,654.00		32,162.84



10/07/2022

**Tabulation of Bids** Page 3 of 5

Letting	: 04221	007 C	October 07, 20	22 <b>Cal</b>	l Order: 004		Contract:	E4W17-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) T.T.C. ENVII		(5) WRA CONSTRUC		(6) RAZOF	BACK, LLC
() indi	cates item is bid as L	.ump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000	)1 (	GRAFFITI REN	/IOVAL (SF					
CLEANIN	0400143 NG & COATING CO E, CLASS 5	ONCRETE	29,200.000 SF	1.00000	29,200.00	1.60000	46,720.00	2.00000	58,400.00
	0400145 NG CONCRETE SI	JRFACE	28,000.000 SF	1.00000	28,000.00	0.60000	16,800.00	0.45000	12,600.00
	0561 2 G EXISTING STRU	JCTURAL	233.000 SF	1.00000	233.00	13.90000	3,238.70	10.00000	2,330.00
	0563-3 AFFITI COATING	SACRIFIC	1,450.000 IAL SF	1.00000	1,450.00	1.90000	2,755.00	4.00000	5,800.00
	E563 99 TI REMOVAL		3,600.000 SF	1.00000	3,600.00	1.90000	6,840.00	2.00000	7,200.00
0001 G	RAFFITI REMOVA	AL (SF) Se	ction Totals:		\$62,483.00		\$76,353.70		\$86,330.00
	Со	ntract Gra	and Totals:		\$62,483.00		\$76,353.70		86,330,00



10/07/2022

**Tabulation of Bids** Page 4 of 5

Letting:	04221007 O	ctober 07, 20	22 <b>Cal</b>	l Order: 004		Contract:	E4W17-R0	
	o / Item ID Alternate	Quantity Units	(7) TAR-MAR G	ROUP, CORP				
() indica	tes item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
8	SECTION: 0001 (	GRAFFITI REN	MOVAL (SF					
	400143 G & COATING CONCRETE , CLASS 5	29,200.000 SF	1.15000	33,580.00				
	400145 G CONCRETE SURFACE	28,000.000 SF	1.00000	28,000.00				
	561 2 EXISTING STRUCTURAL	233.000 SF	7.50000	1,747.50				
	563 3 FFITI COATING, SACRIFICI	1,450.000 IAL SF	2.00000	2,900.00				
0025 E	563 99 REMOVAL	3,600.000 SF	6.00000	21,600.00				
0001 GR/	AFFITI REMOVAL (SF) Sec	ction Totals:		\$87,827.50		ı		
	Contract Gra	nd Totals:		\$87,827.50				



10/07/2022

**Tabulation of Bids** 

Page 5 of 5

**Letting:** 04221007 October 07, 2022 **Call Order:** 004 **Contract:** E4W17-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.